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o FUT AT F T [ I % FG JoT-97 § FRT 7T 16 T F97 40 &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [r@)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
T § g 4 @ w@hwre Tl A awam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 59T -

General Instructions :
() @ g7 IErt &

All questions are compulsory.
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(i) 797 F9%F 1 @ 40 T%F JEGTT Jo7 81 F9F FoT 1 GF FH 8 FE I G
gee-giaar 4l

Questions from 1 to 40 are objective type questions. Each question carries 1
mark. Write correct answer in your answer-book.

1. Ye=g 7 gHiREd e 8 ? 1

(A) TSFIR 316X J&M HE

(B) T & IIC TG

(C) TETEAT &I HAfHTH ITT

(D) I 9X g1 %3

Management ensures :

(A) Providing employment opportunities
(B) Maintaining profit

(C) Maximum utilization of resources

(D) Reducing the cost

2. U9 T 1
(A) T FRAT (B) UH fshAm
(C) TH I (D) % #H

Management is :
(A) An activity (B) A process

(C) A tradition (D) An illusion

5609/(Set : C)/ Il



(3) 5609/(Set : C)

3. 5 39 ¥ yerg &1 AX & w9 F R e S g@w § 7 1
(A) AR
(B) STA
(C) ¥Ra

(D) AR T S

Name the country in which Management is accepted as profession ?
(A) America

(B) Japan

(C) India

(D) America & Japan

4. ‘HB HT Y Ted T GG % 9 w1 | FRAr o 7 1
(A) FE=m
(B) &=
(C) €A
(D) e

'Thinking before doing' under which function of management is this performed ?
(A) Controlling

(B) Directing

(C) Organizing

(D) Planning
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5. “O9ag Y & Dis T HE ol 2 gk g8 of T HE 1 i 9 31 - T PO
g gast & et T 7 7 1

(A) THET YS9 H AR 2

(B) TH<Y @a: TG el =il

(C) < T FR=R A & ardil 9ihar ol
(D) & & P T

"Coordination is not a separate function of management but it happens to be

the final truth of all functions." In what context this observation has been

made ?

(A) Coordination is the essence of management.

(B) Coordination is not established automatically.
(C) Coordination is a continuously moving process.

(D) None of these

6. I WM T GHAT ... 2| 1
() faH
(B) gaigarE
€) T
(D) Suer @l
The words 'Cooperation' and 'Coordination' are .......... .
(A) Opposite
(B) Synonym

(C) Complementary
(D) All of the above
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7. T A T UG A DH-A1 Er s ? 1
(A) SR H THaT & S
(B) oAf¥han IR H Har
(C) Tieamedr & ©M W oM & WM &1 e
(D) 3™ & F3 Tl

What principle of management has been given by Henry Fayol ?

(A) Principle of unity of command
(B) Principle of optimum production
(C) Principle of using science instead of rule of thumb

(D) None of these

8. WY % fu=Td a1 @ o © ¢ 1
(A) gEids a7 |
(B) IR-E|iy® & 4
(C) (A) @ (B) = §
(D) fpdll § i
Where are the principles of management applicable ?
(A) In the field of business
(B) In the non-business field
(C) In both (A) & (B)
(D) None of these

9. ISIH Yo & ARFIA M= § & H-61 AT 7a7 [hal Sl & 7 1
(A) 7T ST (B) M4 I
(C) T HT AEgIq (D) gHIA I
Which study is not done under scientific management ?
(A) Motion study (B) Profit study
(C) Time study (D) Fatigue study
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10. -8 Jo+ e faRrdwer & Ik 7o JeH & § 7 1
INBEEIRER R
(B) TSI T
(C) SUAFT &L

(D) ITAH H & FF T

Which system of management gives due importance to 'Specialization' ?
(A) Scientific management

(B) Administrative management

(C) Both of the above

(D) None of the above

11. RS ... % gia § TERE ol 1
(A) I
(B) @I
(C) RIS
(D) & T
Planning is helpful in increasing ............. :
(A) Cost
(B) Loss

(C) Efficiency

(D) None
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12. &HH-H g9 i Qv 72878 ? 1
(a) Frm ged 8
(B) & & IwiE qUSg Bl §
(C) % # g+ Usw DAar 2
(D) W T TR H AR BNl &
Which one is not the characteristics of rules ?
(A) Rules are rigid
(B) Violation of rules is punishable
(C) Following of rule is voluntary

(D) Rule is a sort of order

13. FESE ... &l B 1
(4) d (B) A
(C) 3¢ (D) TUUH H q HiE T
Planning is ........ .
(A) Flexible (B) Stable
(C) Rigid (D) None of the above
14. [ GG B .o F B 1
(A) et (B) &
(C) dm (D) e
Planning is the ......... function of management.
(A) First (B) Second
(C) Third (D) Fourth
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15. PRI H AR E coovennnn. |
(A) G (B) I=
(C) argAN (D) fdem
.......... is the essence of planning.
(A) Organising (B) Controlling
(C) Forecasting (D) Directing
16, .coooenn. el T BRa B QU H # faega e &l B
(A)  FEfR (B) 9T
(C) e (D) wshy

............ gives a complete detail of doing a particular activity.
A) Procedure B) Budget
( g

(C) Programme (D) Method

17. HH-91 S Srdl e id f6ar St 8 ?
(A) Sl (B) SMIw=R®
(©) (&) T (B) (D) @ T
Which organization structure is consciously or deliberately established ?
(A) Formal (B) Informal

(C) Both (A) & (B) (D) None
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18. /=1 & § HH-91 e T 99 % Tl & 7 1
() ST B) Refema
(C) SEd al (D) SMIw=RE

Which of the following organization lasts longer ?

(A) Formal (B) Divisional
(C) Both of the above (D) Informal
19. &= & § M-8 @A @ TH 787 & ? 1
(A) TH AT (B) @@ e
(C) "= (D) 9s¢ & Th ST

Which one of the following is not a nature of organization ?

(A) One person (B) Work division
(C) Co-ordination (D) A part of management
20. TF I=d SAEN & TN STl i He FweaAnd © 1
(A) FEET rAE (B) @S M=o
(C) T F TR (D) WUI+E Ear

Number of sub-ordinates under a superior is called :
(A) Office environment (B) Strict control

(C) Span of management (D) Scalar chain
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22.

23. MRS 1 Go By I 9§ & ?

24.

AR Hd I oKl § 7

(A) IAEEE A &

(C) (A)T=m (B) &+ &

How is accountability created ?
(A) By assigning responsibility
(C) Both (A) & (B)

fr=1 & & fepeenr & e © °

(A) TS
(C) TaB=smTT

Which of the following has a wider scope ?

(A) Management

(C) Decentralization

(A) GRS
(C) TN

(B)

(D)

(B)

(D)

(B)
(D)

(B)
(D)

(B)
(D)

5600/(Set

R Aiew @
frelt @ =i

By assigning authority

None of these

HRIHIT
ARTYOT

Centralization

Delegation

RERIRED
FfRTTT

With what responsibility is staffing related to ?

(A) Social

(C) Government

T T oo ]

(A) HHRIHD

(C) T

Recruitment is a ............ process.

(A) Positive
(C) Qualitative
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(B)
(D)

(B)
(D)

(B)
(D)

Political

Individual

Negative

Quantitative
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25. T hAT 1 YUT TR HiN-91 § 7 1
(A) TET TN (B) S S&E
(C) wmufyes St (D) =g+ fol

What is the first step in the process of selection ?

(A) Selection tests (B) Job offer
(C) Preliminary screening (D) Selection decision

26. ......... P q R R § ot § 1
(A) & A=A (B) YT Yol
(©) (A) T (B) A (D) ¥ & B T

.............. is included in off-the-job-training.

(A) Case study (B) Lecture method
(C) Both (A) & (B) (D) None of these
27. e e & snfiret 7 21 1
() (B) I
(C) EasrTR (D)  STREIRET
.......... is not included in Directing.
(A) Planning (B) Leadership
(C) Communication (D) Motivation
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28.

29.

30.

(12) 5609/(Set

e 1 | | Far gied &< 8 ?
(A)  gEE H 9w GHRET He

(B) o= & e
(C) I I
(D) RS e

What out of the following does supervision ensure ?
(A) Ensures issuing instructions

(B) Facilitates control

(C) Both of the above

(D) Industrial conflicts

STERT B faQsar e B @ B
(A)  FHRIHD (B) TTHRIHH
(C) THNIHE T THRIHSD (D) GEAHSD

The characteristic of motivation happens to be .......... .

(A) Positive (B) Negative

(C) Positive and Negative (D) Quantitative
RRE AR H .o EAI SEER IS S

(A) ST (B) M

(C) a= (D) SWH |l
Physiological needs include ........... .

(A) Food (B) House

(C) Cloths (D) All of the above
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31, M H A =B IS [T A4 o 7 1
(A) TS &H (B) SATH{aLATd
(C) feorfaemen (D) 39 q+fi

Which of the following is the characteristics of a good leader ?

(A) Initiative (B) Self-confidence
(C) Decisiveness (D) All of the above
32. ‘TSl H TG AT HegERd H T § § HiE-G el o 7 1
(A) T HEE (B) HEHT®
(C) T (D) @R

'Wrong interpretation of message' what type of communication barrier is it ?

(A) Semantic (B) Emotional
(C) Organizational (D) Personal
33. RS 5€T B ... FE B 1

(A) muH (B) fadi=

(C) T (D) ffem

Controlling is the ........... function of management.

(A) First (B) Second

(C) Third (D) Last
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34. =T % TH fRE TER @ B 7 1
(A) TRRIHD T
(B) TIIHS 8]
(C) S &l
(D) ST § | HiE TE
What type of nature the control has ?
(A) Positive approach
(B) Negative approach
(C) Both of the above

(D) None of the above

35. TS & HM-H1 T& Fel Sl & 7 1
(A) HEAHH TEq
(B) ToHF Teq
(C) (A) T (B) &
(D) & q PI§ T
What aspect the capitalization is called ?
(A) Quantitative
(B) Qualitative
(C) Both (A) & (B)
(D) None of these
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36. TSI H SEN T TS0 B STEIHRA B . G 1
() e B) 9
(C) A (D) <&d BH

Use of machines makes the use of fixed capital .......... .

(A) More (B) Nil
(C) Less (D) Very little
37. UEH TR & .ooovnne B Bl 1
(A4) =T (B) FrX
(C) = (D) fahan
Customer is the ............... of the market.
(A) King (B) Servant
(C) Sympathiser (D) Seller
38. ... EEIEIEI R I 1
(A) @i ug (B) H el
(C)  Srerehel (D) wiqgfe 1 319
................ is an advantage of advertisement.
(A) Better reach (B) Less effective
(C) Rigidity (D) Lack of feedback

5609/(Set : C)/ Il P.T.O.



(16) 5609/(Set
39. = § @ Susiadel & fdvs gae fhes oidid & ST g ® ?

(A) X (B) fe=ma

(C) fempa Taw (D) =R e

Which of the following can offer expert opinion to the consumers ?

(A) Publicity (B) Advertisement

(C) Sales promotion (D) Personal selling
40. fFT HasT ... F GEl IH F TEEE B

() fosme (B) =fFa fsra

(C) IR A (D) 5@

Sales promotion is helpful in making ............... effective.

(A) Advertisement (B) Personal selling

(C) Both of the above (D) Publicity
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